HSSC Revenue Clerk 12 Dec 2021

1. Which of the following personalities is
related to Haryana?
|A] Hira Singh
[B] Kalpana Chawla
[C] Babu Dayal Sharma
ID] All of them
[E] None of them

2. When was the Comprehensive Scheme

of Plantation under the name ‘Greening
of Haryana’ launched?
[A] In the year 1982-83
[B] In the year 1985-86
[C] In the year 1989-90
[D] In the year 1994-95
[E] None of the above

In Persian language Hisar means Fort.
The city of Hisar was founded by which
of the following Muslim Rulers?

[A] Firoz Shah Tughlaq

[B] Mohd. Bin Tughlaq

[C] Ghiyasuddin Tughlaq

[D] Both [A] and [B]

[E] None of them

In which of the following States is
terrace cultivation practiced?

[A] Punjab

[B] Plains of Uttar Pradesh
[C] Haryana

[D] Uttaranchal

[E] None of the above

3.

4.

5. Netscape Navigator is a type of
[A] utility program
[B] operating system
|C] browser
[D] web authoring program
[E] None of the above

6. Encrypted  messaging  application
‘Wickr’ has been recently acquired by
which tech giant?

[A] Facebook [B] Twitter
[C] Google [D] Amazon
[E] None of the above

7. With a view to administrative conven-
ience, Haryana has been divided into
[A] three divisions
(B] four divisions
[C] five divisions
(D] six divisions
[E] None of the above
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8. Which of the fOIlawing National
Highways runs from Faridabad to
Ballabhgarh, Palwal, Mathyrq and Agra?

[A] National Highway No. 4
[B] National Highway No. 3
[C] National Highway No. |
[D] National Highway No._ 7
[E] None of the above

9. By what percent must the cqg¢ price be
raised in fixing the sale price in order
that there may be a profit of 209, after
allowing a commission of 10%?

1
A 3% B 133y
3
[C] 25% D] 30%

[E] None of the above

10. The sum of two numbers, when
multiplied with each of the numbers
separately, then the results of the
above multiplications are 2418 and
3666 respectively. Find the difference
between the numbers.

[A] 16 [B] 21
[C] 19 [D] 23
[E] None of the above

11. All natural numbers and zero are called

as numbers.
[A] rational [B] integers
[C] whole [D] prime

[E] None of the above

2. Directory search is also known as
|A] direct search [B] unique search
[C] index search [D] All of the above
[E] None of the above

8. How much amount is given in Haryana
Sahitya Ratna Award?

(A] %2 lakh [B] ¥3 lakh
[C] %4 lakh [D] ¥2.5 lakh
[E] None of the above

4. Average revenue
[A] can be negative
[B] cannot be negative
[C] is zero when total revenu€ is zerq
[D] Both [B]and [C]
[E] None of the above
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Direction : In the following question, a letter
series is given. Some of the letters of the
series are missing. These missing letters
are given in same order as one of the five
alternatives below the series. Find out the
correct alternative.

15. CDEF_EDC_DE_FED__

[A] FCFC [B] FCCD
[C] DCCC [D] DEFC
[E] None of the above

16. Where did Harshavardhana make the
capital of India?

[A] Rohtak [B] Panipat
[C] Mahendragarh([D] Hisar
[E] None of the above

[=]

[=]

v,

o

17. Which of the following dance for
also known as ‘Haryanvi Gidda™?

[A] Lur folk dance [B] Ratvadi dance
[C] Jhumar dance [D] Ghoomar dance

[E] None of the above

During solar eclipse

[A] the Earth comes in between the
Sun and the Moon

the Moon comes in between the
Sun and the Earth

the Moon comes exactly halfway
between the Earth and the Sun

the Sun comes in between the
Earth and the Moon

None of the above

18.

(B]
(€]
(D]

(E]

Chaudhary Chhotu Ram started a
vigorous campaign to popularize the
Unionist Party in Haryana. In Haryana
State this party was called as

[A] Zamindara league
[B] Zamindari system
[C] Hindu-Muslim
(D] All of the above
|E] None of the above

19.

Direction : In the following question, a matrix of
?:lll't&m characters is given. These characters
. OW & certain trend, row-wise or column-wise,

ind out thig trend issi
and choose the missin
character from the given alternatives. :

20.[72 132
96 |16
108| ?
[C] 32 D] 37

[E] None of the above
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21.

22.

23.

24,

s.¢

Which of the fOllOWing equations 18

correct?
PxQ
[A] AR=—— =P
Q
Bl AR=P+0Q
[C] AR=P-0Q
[D] AR= P +Q

[E] None of the above

The agenda for

Conferences held

1930-32 was to

[A] discuss the report of the Simon
Commission

[B] form a Constitution for [ndia

[C] find a solution of the communal

problem in India

find a solution for the problems of

the ‘depressed classes’ of India

[E] None of the above

ﬂ_“C Round Table
In - London from

(D]

What is e-mail?

[A] Engineering Mailing
[B] Internet Mailing

[C] Electronic Mailing
[D] All of the above

[E] None of the above

What prevents backflow of blood inside
the heart during contraction?

[A] Valves in heart

[B] Thick muscular walls of ventricles
[C] Thin walls of atria

[D] All of the above

[E] None of the above

Which one of the following gases is
found in highest quantity in €Xosphere?
[A] Hydrogen [B] Helium

[C] Nitrogen [D] Oxygen

[E] None of the above

Union Defense Minister, Rainath Singp,

has informed that _]“d’a’a first
Indigenous Aircraft Carrier (AC-1) jg

Planned to be commission€d bY which
year?

Al 2022 [B] 2025

[C] 2030 [D] 2028

[E] None of the above

S
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27. Where did Guru Gobind Singh stay on ~27. 1688 o Fmft * oy ¥ @ T mfa=e fag df

his way from Paonta Sahib to Anandpur afgs 4 R A @YY el dal U7
after the ‘Battle of Bangani’ in 16887

83N {9118
[A] Gurdwara Navin Patshahi (A] Tt wrcraITe

[B] Gurdwara Kapal Mochan [B] TR w9 Hiw
[C] Gurdwara Dera Sahib [C] T du @ifeE
[D] Gurdwara Nadha Sahib " D] Egm el @ifgE
[E] None of the above \ [E] 39 % & #1780
28. An upfold in rock is .
[A] graben [B] horse \93- REL] a}'% HYBlcg 3 §
[C] anticline [D] syncline (A]  are =) S
[E] None of the above (C) ufewerrs (D] faaeirsa
29. In the current year which of the following [E] 390 & @ #18 A
banks has partnered with Paisabazaar ——29. I ¥ § Ry 379 Hfee FiE A B H fee
to launch Step Up Credit Card? - R YarETSIR % @Y
[A] State Bank of India Eﬁi?ﬁ e o
[B] SBM Bank e '
[C] Airtel Payment Bank (Al Yl Re &% (B] w®o o wno &%
[D] 1PPB [C] Qm%aaﬁzém [D] 3'T|_§o dle dio o
[E] None of the above [E] 3R § & #1 8
30. Which one of the following is a [~ frafafas & WFET"’F' 5
hereditary disease? ~30. ﬁ 8 - . " &
[A] Cataract [B] Haemophilia [A] wferafag (B] #mifefern
IC] Pellagra [D] Osteoporosis (C] emn [D] FifegRifay
[E] None of the above [E] 3w% & @ 1 78

Direction : In the following question, one )
term in the number series is wrong. Find out Fdw . frafafea PR ﬂ,

the wrong term. THd 8| I[&:H,__‘l'd &l gﬁl -
31. 5, 27, 61, 122, 213, 340, 509 E i) S, 27, 61, 122, 213, 340, 509
(A] 27 B] 61 N%g (A] 27 [B] 61 e
€] 122 D] 509 0 IC] 122 [D] 509 ’
[E] None of the above [E] 390% d 4 & e ST
32. Which of the following treatise provides \“32. 3 3 - n .
valuable information about the . T $-w Eﬁ,\ aam:' F—‘rf_v"j"”k A
advancement of trade, art and culture ST, Hell G5 &l & am § fre=r 4 § fehg
in Haryana during the reign of Tomar ~ ek g TN S fier 27
Kings? ‘ A] FEble-ufge
[A] Tahkik-i-Hind B) s
[B] Harshacharita . =
[C] Kadambari €] #rg _
[D] Yashastilak Champy [D] zwifmicie @y

[E] None of the above

o (E}

33. In which State is the India’s largest ] 4 - o .

floating solar power plant proposed to be ﬁ“‘ T4 H WA H gETH EH HN 3]
¥y & fmiv &1 wem@ fear mns

set up?

[A] Maharashtra (A] wanrg

[B] Madhya Pradesh Bz w3

[C] Telangana 0] e

[D] Tamil Nadu [D] PSS

[E] None of the above ! " % 8 %
/15.C
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34. The number n ig
[A] a fraction
[B] a recurring dec
([C] a rational nym,
[D] an irrationa]
[E] None of the ab

Foreign  Portfolio
inflows of _ huq

ima]
ber
Umbcr
Ove

(A]
(B]
[C]
(D]
(E]

%1 lakh crore
%2 lakh crore
¥2.74 lakh crore

<10 lakh crore
None of the above

Direction : In the following Question, a figure
marked as transparent sheet ig gi’ven and
followed by five answer figures. One out of
these five options resembles the figure which
is obtained by folding the transparent sheet
along the dotted line. Choose the correct

answer from the answer figures:

36. Transparent Sheet

Answer Figures

InVQStmEnl
India in FY 2020-21. = registered by

3 - - None
' 1 ] ;
E : .\\': 0 J: lh?ase
(A] (B] [C] o] [
37. Publication of which of [hiaf'ct)ug
weekly magazines Wwas. 319121“
Chaudhary Chhotu Ram n rom
Rohtak?
[A] Hindu Gazette
[B] Sikh Gazette
[C] Jat Gazette
[D] All of the above

[E] None of the above

Which of the following
Napoleon’s defeat?

[A] Britain B Germ
(C] Italy (D]

[E| None of the above

S
Which city of Haryan?® I
Textiles and Carpets? goni
[A] Ambala [B] Pani
[C] Rohtak (D)
[E] None of the abov®

.'[u_c

38,

39,
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[D] %10 &rE *Ug

[E] 390w d 4 1 48

frafofa sor #, unedff 98 % wu #@ fafad

M

T

s,

39.
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T~37. 1916 # Ugas & Iyl v ™ gr fug §

8 M- awfes obe & 99 sy
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A] fomg e

B] @ e

[C] e T

(D] 3w @
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40.

41.

42.

43.

Satt  was declared illegal and
punishable by the Regulation XVII
during the Governor-Generalship of
[A] Lord William Bentinck

[B] Lord Canning

[C] Lord Ripon

[D] Lord Dalhousie

[E] None of them

Which one of the following slogans is
attributed to Subhash Chandra Bose?
[A] Jai Jawan Jai Kisan

[B] Vande Mataram

[C] Jai Hind

[D] Inquilab Zindabad

[E] None of the above

Where is the stockpile of Ebola vaccine
established by the International

Coordinating Group (ICG) on vaccine
provision?

[A] India [B] USA
[C] China [D] Switzerland
[E] None of the above

P and Q are two positive integers such
that PQ=64. Which of the following
cannot be the value of P+ Q?

A] 16 B] 20
[C] 35 [D] 65
[E] None of the above

44. Where was the Haryana Environment

Protection and Research Committee
formed?

[A] Kurukshetra [B] Kaithal
[C] Charkhi Dadri [D] Hisar
[E] None of the above

45. Ultra purification of a metal is done by

“’

47.

I1e M

[A] smelting [B] leaching
[C] zone melting [D] slagging
[E] None of the above

Which of the following is a traditional
neck/throat jewellery of Haryanvi
women?

[A] Hansla [B] Gulbandh

[C] Mohanmala [D] All of the above
[E] None of the above

National Statistics Day is celebrated on
which of the following days?

[A] 29 June [B] 10 January

[C] 12 March [D] 20 August

[E] None of the aboy§,\ 152 ded from

Eli@g
‘yagy
(8.7

40

gy

41,

1 0 0 R B

Fdf F g med-gaEf & Qe s
XVII g 31dy 3R gefig difta fenar a1 &17
A] @i fafaam s

[B] @ie Hfm

(c] @fE fum

(D] @78 serarsll

B w3 wE A L
frafafiga @ & ®H-81 910 U 9% @14 &
gufda foar mme?

A] 54 vEE 94 fHaH

[B] d< wrewy

[C] 53 fé=

[D] $hema firgramg

[E] 39 | & I3 78

W Ay W SAigE d@nad §9E g
Wi saen dadfa 1 YR e 27

[A] ¥R (B] 84w Usg 3@t
[C] ¥ D] wiesiels

[E] 3W® # | g 78]

P3N Q q s e 36 R 5
PQ = 64. fr=feifiga & & wa-a1 P+ © %

AH Ad 8 "l 27
[A] 16 (B] 20
[C] 35 [D] 65

[E] W% 3 § #1§ 38
‘E&qmnwhmquésﬁuqﬁzﬁ'wwgq
HE BHI 7

(A] FEA B] ¥

€] =@ =@ b fran

[E] 300 4 8 w18 w8

-W“@WW—{@Wﬁmmﬁla

[A] wifean gra

[B] it gma

[C] i afeen gry

[D] =fimm g

[E] 3ot H 8 #1878

IR ®9 8 TG/ H wE gren G
(A] #aen (B] 7eieg

[C] wrgwIe (D] 39l Hoft

[B] s # 8 +§ adf

nﬁ‘q giferh feay (National Statistics
Day)ﬁﬂﬁéﬁmﬁ?wmm%?
[A] 29 94 B] 10 F=aft

€ 12 #= [D] 20 37T
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ENGLISH LANGy
D/{,;:t-i_;n : In the followin\E fe=dt v
ly spelt wo Uestig ~
ghe correct 't Word, n, choose 5§3. T& &M gEe TE —
48. [A] gachkl;mg B| Sach.. A . _ HMW gg @l
[C] Saccharin (D] Saccinqe (A]
[E] Nome of the aboye arine B]
ction : In the given Questi
gemetves [A], (B, [C], D] anq'jy-ion, five ] wé-
or the idiom/phrase given ; are given .
gentence. Choose the alternatm bold in the (D] 3N 13

expresses the meaning of the idiom/phrase

“#. | have recently chan
! ged .

am going to have teethis . 00 and I

g ethin
[A] difficulties at the Staft Problems

[B] difficulties at the eng
[C] difficulties all the time
[D] problem with my teeth
[E] None of the above

Direction : Out of the five alternatives [A],
B, [C], [D] and [E] given below, find the one
that best fits into the blank in the following
sentence.

50. The problem is who will ___ this child.
|A] bring in [B] bring out
[C] bring up [D] bring forth

[E] None of the above

Direction : Fill in the blank with suitable
preposition from the alternatives gIVen under
the sentence.

51, After all, hard work has come to tell
your health.
[A] on (B] upon
[C] at D] to
[E] None of the above

in
Dlreetion : In the _f"uo“fl actiVC/PﬂSSive
¥Ntence has been given 11 s suggested
“ice, Qut of the five altematwgs the same
¥lect the one which expres_scc.
lence in passive/ active VOl ident of the
R. They made him the Pre®
club. de him  the
(A] They were m?ub
President of the ¥ club wag
B] The President Of
made them byﬂl:? F,r.gsid'f‘-"‘t of the
[C] He was made
club by them . he 4P wag
D] The President ‘; o+
made him by ¢
[E] None of the ab°

“&.Q

g question, a

[E] I d § =+ @

~-54. ‘"’ @ Hife 2
[A] @rferent
[B] afereht
[C] @Ten
[D] @reft
[E] 390® § & % 48

IS s e e P 3

[A] Bfe
B] fa=
[C] fasde

[D] foega
[E] 39 4 & &8 78

~86. fwd @i g A & % for 3fea w3

[A] e
B] @fifs
(C] 3w

Z%@g D] 3wfew

e B i § @ 98 @
~57. Pefifa § @ S-w = T A fig g,

A] g
(B] e
[C] =T
[D] g

[E] 3w § @ = 7@
[P o

Downloaded from www.cclchapter.com



D@jwnloacdea'f@ www.GbIcFl)apte\E‘com €-<x

(1L (T ey
\53- afe %3 qea W 20% &1 @™ g &, @ farma

58. If _lh"-re is a profit of 20% on the cost
gglize.prtil;: _percentage of profit on the Hed 9 o™ <l yfgqera 2 _.::_) :
1s —
(e
1 1 =
9 15 — % B] 12% &
(A] 155 Yo B] 12% (Al 3 ’ (B] - // Le
2 2 ) g
[C] 16 —% D] 16% (C] 16 — % D] 16% }
_ 3 S
[E] None of the above [E] I 0 d EOH @
59. Pr;*:n b!:an_vf seats are allotted to the \59. gframom o= | TST B ¥ weet & foru faaa
e rs of Rajya Sabha from Haryana iz wmafza feu M -4
(A] 5 Bl 8 [A] 5 B] 8
[C] 10 %D]] 12 [C] 10 [D] 12
[E] None of the above S [E] g0 d 3 #é 'Tgf
60. EheNscheme ‘Beti ka Salaam Rashtra W & = wAW TP F AW A HEfud R
e Naam’ is related to i wfaarE
[A] essay competition (=]2432 (Al P aﬁ
[B] sports competition [B] g i
1C [C] flag hoisting (C] easrEy &
= [D] getting a job D] I I
[E] None of the above —
61. A does 20% 1 P N e T
. oes o less work than B. If A can
61. A, BH 20% F9 FE Hal 2
1 4 207 | afg A foret
.\ complete a piece of work in 7 —hr, A Y i 7 i ‘
3' 7 then Bcan do it in 2 £ s ; R H W R TR, @ B
— % [C] 8 hr D] 10 hr A] 482 .
5@ ~ y [E] None of the above ] 8 (B] 6 =2
=) 8 :
62. A topographical map with scale 1 : 50000 [E] 7 § [Pl 10
Nx I indicates 1 cm to \62 q F
= [A] S0 km (B] 500 m g
C] 50 m D] 5 km T T W 1 50000 3 %
[E] None of the above lem 8 % w&a ¥ 2
30 - 8l 50 km B] 500
< 63. A popular chat service is called [C] 50 m D] s K m
[A] Internet Release Chat T m
3 (B] Internet Request Chat [E] L ﬁg &
[C] Internet Resource Chat . U diaig Sfim ¥
[D] Internet Relay Chat A] éete — 8 ST 2
[E] None of the above - frefta QZ[B] ST i 4
64. Burns caused by steam are much more [EI . S R (D] 521%12 f& ¥R
severe than those caused by boiling | g &
water because 64, yy ¥ Eren
[A] steam pierces through the pores of ) g i A ares (STeft) By 2
body quickly _ HTPA ™ O (9 gy ) @, i
[B] temperature of steam is higher ] ¥ AL - e S,
[C] steam is gas and engulfs the bod [B] ¥ F AR HAT B
quickly _ YJ‘ 4 JC 2 Y% B 2
[D] steam has latent heat A8 3 F [C] Y, S e .
[E] None of the above o [D] ¥ # T die B 3
= = o B gc[a'rﬁ 43 2
i | v 2 : €s I , :rﬁ - »
e B x@Y @SR g.001 S yX g (D

Y M
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& Lur folk dance, e
aANSWers are askedwhic}.l

rformed i by ¢, estiq = -
pe n the the N and 65. T ik v, Rl e ) ywred Bt 2,

mOnth Singe .
[A] Phalgun of BT, is ;
€] Ashwin lIEI Baiggy, fou wie d smifem @ 2
[E] None of the abov] l“fartik :2: qu ) |
¢ > (D] wifde
% ‘Sal’ tree is [E] 390 8 8§ %1% 78
[A] tropical evergreen | 66, Gl F g P u
. . (o) - '
B] troplcal' Semi-everg,,, 3 [A] 3wrfeadiy geeen s
[C] dry deciduo N tree 3 I : ;
O uS tree (B] Iwrhfesdiy 3g-vemar e
| opical moist deciq, [C] = gviyre Fg
[E] None of th oUs tree : '
€ aboye (D] 3Iwrkfessiia au quiid dg
g1, Which of the following jg g, S (] 370 d & =r§ T
of Haryana? te bird | g A § A g w1 Tow uaft Aaa 27
[A] Black pheasant [A] @ dar (B] #@¥g &4
[B] White swan [C] T (D] 7%
[C] Parrot S I90% A q &
[D] Peacock [&] . ks
[E] None of the above P& 8. 5w SR o, e eplige
. (=] 825 ugdl /el R, d wer W af
8. When a light ray passes from glass to A] @@ wrdl
water, the speed of light B] =2 @i 2
[A] increases
[B] decreases ! g l??ﬁa:ﬁ 2 i
[C] remains same = mﬁ?ﬂ 5 s
[D] first increases then decreases o [E] Hyg ﬁg ;{ﬁ
69. B 1, S Hmaversh § femar 2, %

[E] None of the above
FANIS @AV & HRU BT B

[A] Hfcamm (B] #fem

8, colour seen in fireworks
The green the chloride salt of

displays is due to : ‘ '

[A] calcium (B] bariu™ [C] wifem ) (D] wifEs

€] sodium D] strontt™ [E] 3w § 4 1 5

[E] None of the aboveé \.70. frey & & FH-T1 a3 HH}'T"ET&W@
™. Which of the following i n?: gf Fl’ﬁgiac;f e @%?

the foreign exchange rescrve (A] feesft gz

[A] Foreign Currency (B] 1 -

B] Gold (C] o g 3o

[C] SDRs s [D] &l sfavfead

cur’ [E] 390 & 8 #1878

D] Government S€

] None of the abo¥® o iq | 71 73 & awdew hi @ Pl 1@ )

n' The rate of evaporatjo |A] dT9shH T |
does not depend up” 3 [B] 6% @ae &9 % TIET A umwgy
(A} temperature * xposed the ® W
B) jts surface are? = [C] 36% ZoH W

atmosphere (D] FEM
IC] its mass R L
D] humidity —
®| None of the @ Downloaded¥rom www.cclchapter.com (P g

h‘



72. Where is Asia’s largest paper mill BILT

IlI||||lﬂ||||l|'|llll|ﬂ||||!
e o 9 W v aw fe BILT A H

located in Haryana? FE g 27

[A] Ambala [B] Yamunanagar [A] 3rETET B] IR
[C] Sonipat [D] Karnal (C] &rfua (D] HEE
[E] None of the above

73. People prefer to wear cotton clothes in
summer season. This is due to the fact
that cotton clothes are
[A] good absorbers of water
[B] good conveyors of heat
=C] good radiators of heat

[D] good absorbers of heat

[E] None of the above

74. When MR is zero, then
(A]
(B]
(C]
[D]
(E]

TR is minimum
TR is zero

TR is maximum
TR is equal to MR
None of the above

[E] 37w # & HE T

i ot 35 e T S T TS
(A] Tt F =8 I

[B] au & =@ dEH

[C] am & 3= R

D] M ¥ = IfawINH

[E] 3w # & #§ T8

5 Hiwid #@ (MR) I @, a9

[A] & 3™ (TR) =AaH &l 2

[B] %o sm (TR) I &rr 2

[C] $& 3@ (TR) Hfuwaq &1 &

~ D] %& 3™ (TR), #Wid 3™ (MR) % ST
grar 2

w73,

s,

75. LONGi Green Energy Technology, which >
is consid;rzz to be the world’s biggest [E] 37 & @ w8
solar company, belongstow.hich country? 75, o 1 e v ISR T ——
[A] Japan [B] China e -
[C] Germany  [D] Italy ) FEA! A T R, o 3w @ e 27
[E] None of the above , , 5., ' (1= ~ Y [A] sE B) <
g Syl lege) i D] sesh
76. If 4x=\f§+2. then te'-value-ff O ] mﬁff#aﬁﬁqgf
[X_E;Jls -"%g ﬂﬁ4x=\/g+2%,?l‘1'(x-~1—g-)aqm%
(A] 1 B] -1 Gﬁ? 1. 2 X
_ R [A] 1 B] -1
(rs72) “@
[Cc] 4 D] 25 % ‘% [C] 4 D] 245
[B] None of the above —| 7 m A
77. Which of the following States has | ™ 77, P & & 50 T3 3 11t 1 8 o 35 g
tly nominated Raghuram Rajan 3T )
;esc‘;;;rf of the five-member Economic a-ﬁ::;:mm %%ﬁ%mﬁ
Advisory Council for the State? TguH TS o 22
[A] Goa [B] Kerala [A] B] ¥«
[C] Tamil Nadu [D] Karnataka (] afirerTg [D] #Afew
[E] None of the above B - A
78. In which district of Haryana is 78, g & 59 NS smifn o w1ty
. a:lnmonia plant installed? Ry T 27
[A] Jind B (a) < B] feaw
(] Jhajiar [P} FATPE w o] 7 D] e
[E] None of the above S22 _ | | s 3 3 /
St 4 ? P2ty SHAR ~ (o
e & 5?; (IR v '?@$5' g ) ,( i
F ol C L = ; e — i I. : )
Downfoataa ot Wivw cclchapter.com /- 15#+9 T~
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79. A boat goes 6 .
water‘. It takes thrice
covering the same
the current, gag it
current. Speed of the
[A] 2 km/hr B
[C] 4 km/hr {D]] g tmfhr
[E] None of the aboye m/hr

0. Four years ago the 88Cs of A anga:

were in the ratio 11:14 and af|
years, their ages will be in the [wadig

13:16. The present age of 4 ig

d.s Much time in

t 'Stance against

akes along the
ITent ig

[A] 48 years [B] 26 years
[C] 44 years [D] 28 years
[E] None of the above
81. Choose the odd one out from the
following :
[A] D12B B] 043B
[C] K62T (D] YeOE
[E] None of the above

82. Who among the following has authored
the book, Hind Swaraj?
[A] Bal Gangadhar Tilak
[B] Mahatma Gandhi
[C] Gopal Krishna Gokhale
D] M. G. Ranade
[E] None of them

! led
83, Per unit cost of 2 good 18 calle
[A] total fixed cost
[B] variable cost
[C] average cost
[D] All of the above
[E] None of the above

a,
M, Which player of HavoT
Asian Games, has ¥

1d medal in

Anil Phogat

Nitin Gulia

None of them™

B. Glucose is a,soutr;,pec (;fo
D

~which one
en€ Olecglc is it?
f mo'©
prote”
Nudcic .

kn'l In \
aﬂn hoyr in still 79.

T84.

[A] Carbohydra® (D)
[C] Fat above

1
[E] None of .

-’ 80.

82,

T>83.

G Ve -~
-3y

—= \n
i,

—

B x-)

“)

.—"—T_?

== )

U A4 Wid A # us g2 0 6 il gerd 2
TE 9 % 919 I A gt q@ w4 fae
w7 ot 2, 3w A7 aifte wEa U
fowg 9 # ot &) ww A nfa 2

(Al 2 Refyda (B 3 /e =3
[c] 4 feft/gar D] 5 ferll/He )

] 370w d & S e
arad qd A SR BRI 11014 F I TS
ﬁeﬁm?aﬁmﬂﬁm]?:ﬁm% @ﬁ
SR RIS T

(A] 48 ad B 267  —=7”

[C] 44 wd [D] 28 = 4y
B ww @ 8w © o

Ya=3 = e

. frw @ o s

[A] DI12B B 043 " | goxa

[C] K62T [D] Y60E AS+S ;0xe.

[E] 30w d @ &g T@

frafrfga § @ feua fg @ g 6
L CIl 2

(A] @@ e (B] Hered i
[C] T FOT @R [D] THe Sfte TATS
E] i & # 7

felt aeg H ¥ g @vE FoFE &
(A] g fifeem e (B] TR ST
[c] 3feq @ma (D] W W
[E] 300w # & g

173 oftrrd gl # shamn & 58 Reemd 3
gt # w@vf veh St 27

[A] ATEER g

[B] gfier FAR

(€] #fAe wrme

(D] fafem afea
[E] @ & #§ T

r@awfm@a’raﬁluﬁﬁw%;ma

¥ gard § @ WA-T 27 i
(A] ®eTEEse  (B] Wi
(c] = [D] ~AfFTF

E] 90 A | HIE T

[P, o

Downloaded from www.cclchapter.com



86. Who was appointed as the Chairman of

the two Boundary Commissions
appointed by the British Government for
the partition of Bengal and Punjab?
|A] H. C. Lawrence

[B] Sir Cyril Radcliffe

[C] Robert Naive

[D] Samuel Huff

|[E] None of them

87. Which telescope captured the M87
black hole with its magnetic fields?

|A] Hubble

[B] Event Horizon Telescope
|C] Giant Magellan Telescope
[D] Thirty meter Telescope
[E] None of the above

~——88. IM stands for
(A]
(B]
(9]
(D]
(E]

89. There are just two ways in which
5 may be expressed as the sum of two
different positive (non-zero) integers,
namely 5=4+1=3+2. In how many
ways, 9 can be expressed as the sum of

Instant Making
Internal Messaging
Instant Messaging
All of the above
None of the above

two different positive (non-zero)
integers?

A] 3 B] 4

[C] 5 [D] 6

[E] None of the above

Direction : In the following question, a

Number geries iS givcn with one term

o correct alternative that
m'llnng. Choose the e pattern and replace

il i sam _ '
ﬁz:?n;ie nt:;erk in the given series,

=)

9. 0,2, 8, 14,7, 34 @) +9

[B] 23 i
[A] 20
lc; 24 B @ g) e
[E] None of the 8P%%¢ ke
Ill.e '?Ll ) 2o

IIIIIIIIIIIllillﬂlllllllllllll
T\g6. @ s trare 3 R & forg fafen R
gr1 Frgen @l e sl b SHEAE & &9 H
foad fagw fooar mar @n?
[A] UHe Hlo AH
[B] w fafe tfas
[C] & A=
[D] ¥9uel &
[E] 3 @ @15 A€
7. fb ey A o 87 WF A F A
geh g7 § e fFan?
[A] Eese
Bl 3 due fera
[C] wre Ao e
(D] 4df wex ferehry
[ w3 @

\-88. WOUFIGH-TTWE
[A] e A (B] dedtw wafim
.--ﬁE [C] e w@fm D] Iww @t
K [E] IWE FF B
\sg.ﬁméw&%,ﬁvﬂﬁsﬁam_m
e (V) e % 4 3w
fp 1 @b , 3l 5 - 4 4 4
fhe alil @ 9 & & frm yaTe
w*w*wﬁmmm
] 3 B] 4
[C] S D] 6
[ 3w A & ® 7

%:ﬁqﬁmmﬁ,@wq%mwm
Mﬁmnm‘?iﬂiﬁﬁﬁwaﬁgﬁﬁmm
B @m D T e A g o

i)
(-3)
T Hhar 27
-17L6
St
5 I;f y

caall OX .y
%. ¢ % & 14, ?, 34 *Qx3<=92
3 : : .‘39 a —‘-ax w ;
[A] 20 ap (Bl 23 S 4
[c] 24 (D] 26
14 ’ oxi+a , = ¢
ofaa‘"" = - NxX2 _f,.;_}?- A
n@ﬂ"'ﬁ’ 2 Ixg. lar



